tHEa & FIT-HH - L&

Parallel sliding
and turn for doors hardware

4 AL

% :
DINA

GZY
DINA

DINA

o AL
A

SIEGENIA

SOLUTIONS INSIDE
34




PSK#1 PSK-Z#+ - FEITRIAEH:

O FRHE T HRNGANEE

@ LM EAIEEMNEEH IR
@ T &K 200kg FIKEZE K ( PSK-2)
@ It XFFEABNE RS

® RFREMFEEMSITIFIA( PSK-2)

® Efficiently save the space needed for opening

® Reach the same sealing effect as that of the side—hung door

® Provide the bearing requirement of 200KG at the maximum

® Make the ventilation of the winter room more scientific

® Easily open and close the sash only with the help of the operating handle

SIEGENIA AUBI°

SOLUTIONS INSIDE
35




PSK-PORTAL LM {5 &% F1T - i - EBITHZHF ’H T
Parallel-tilt-slide for aluminum doors

28 — 1 I
34— = = 5 5 —
29— ==—-6 ‘— 7 6 —==
Y Q Q @ Q [ 11
p  EE————— e —————
B e —t )32
24 ] )
1 #HF Siline =—12
(handle Si-line) 16
2 AER =
(bogie wheel front)
3 B 19 BEERSR 12
(bogie wheel rear) (coupling bracket)
4 AR 20 {RELBIS 16
(locking part) (tilt slider)
5 R 21 {REEBE
(support) (tilt slider plate)
6 Atk 22 Rt
(slider) (tilt stay)
7 PR 23 HE
(key) (distance rail)
8 B2 24 FR K
(sleevenut) (cover rail K)
9 [EfH1RE] M5x15 25  EiR L
(set screw M5x15) (cover rail L)
12 —¢ 10 HIEEg 26 HEBAT T 15
o (threaded nut) (connecting rod) 1 g 14
q 11 EFIRET M5x18 27 5% H—12
38— || (set screw M5x18) (bottom rail) N
e 12 28 EWRF
17 (striker plate) (cover rail F)
18 13 faftzhse vsu 29 S#H 35 Btk
39 (corner drive VSU) (guide rail) (mounting block)
19 Q 14 & 30 ERE LA 36 iEk
(locking roller) (cover cap L right) (stop)
15 HERE 31 ERE LA 37 EA
1 -
(spring roller) (cover cap L left) (cover cap)
16 Bk 32 ERE KE 38 IR
(slider) (cover cap K right) (stop)
17 EEIRET M5x15 33 ZmRE KA 39 BhiR#EBRfES
(set screw M5x15) (cover cap K left) (mishanding derice)
18 #HE 34 EIREF
(washer) (cover cap F)
12—§ 20 20 13
| | ;
13 = e 12
14— N
21 == 12— 15 21 ——=—
25—
o | D |
8 [ °-0-® 10 °® ®® ®—0-0 - 8
_EE L L =, .
9 ® - 11 RS ¥ *—w > — |
4 & 26—« ) 37 —p =
27 — L T T 3 T T T H
SIEGENIA AUBI°

SOLUTIONS INSIDE
36




PSK-PORTAL LM £5& & F1T -t - FEITEZ
Parallel-tilt-slide for aluminum doors

F3E(sash width) Cmm)
F3=(sash height) (mm)

I7J(door)

700-1650 A (Max.)3460 (YMEout frame)
850-2400 ——  (YMEout frame)

f3&(sash weight) (kg) nBC(standard)150 A (Max.)200
FHES SANZE (over rebate thickness)(mm) 78010

BT SR (corrosion test standard) DIN 50021 SS

SEBIMENSUATEE (gap test standard) DIN EN 12207

IKBRIMETKIATEE (water tightness standard) DIN EN 12208

FHZ& &N (security class) HRER (standard maodel)
= A
o & ATRE
Es ZFR (SERLTE Bt ®)IR suitable standaed £5%
(drawing ( ber ) number ) ( 5 -
number ) numboer B3E (mm) HEZE (mm) fomares
=
(Rize) A e € i sash width frame width
1 HF Si-line PSK LM(handle) 262306 1 1 2 2 — —— (E?;Eoﬁr_‘—;%lectable )
o PSK_PORTAL LM = 7 tright 120064 1 1 1 1 _ —
2 S (B ) % (left) 120071 1 1 1 — —
#
- PSK-PORTAL LM = @A E( 91 &
% 12-21 218310 1 1 2 2 — -
3 )
& 119792 1 1 2 2 700-900 _2000 ~ MAEEIE
3 ( color selectable )
p 119822 1 1 2 2 901-1100 2001-2400
e 22-37 PSK-PORTAL LM = &4A& ( iEEL )
7 119853 1 1 2 2 1101-1300 2401-2860
119884 1 1 2 2 1331-1650 2861-3460
S PSK-PORTAL Briz#{E284A & 818824 1 1 1 1 - —
(mishanding derice) 819739 1 1 1 1 - -

Ik FRAXESHE, FEIERELEFEA(Only used conference)

SIEGENIA AUBI°

SOLUTIONS INSIDE

37






